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Questions

Choose the correct answer from following options.
There were angry protests from the redundant workers.

Choose the correct answer from following options.
There was a reek of tobacco smoke in the cafe.

Choose the correct answer from following options.
He has become feeble due to his recurrent iliness.

Choose the correct answer from following options.
The police have recovered the stolen jewels,

Choose the correct answer from following options.
The workers want high wages and the bosses want high profit-it is almost impossible
to reconcile these two aims.

Choose the correct answer from following options.
The recipient of "Nishan-i-Haider" is given much regard and honour,

Choose the correct answer from following options.
A dustbin is a receptacle for rubbish.

Choose the correct answer from following options.
He came to me recently.

Choose the correct answer from following options.
My offer met with a rebuff.

Choose the correct answer from following options.
The meeting was reasonably attended.

Choose the correct answer from following options.
Only humans have the power of reason- animals have not.

Choose the correct answer from following options.
That's rather a silly question.

Choose the correct answer from following options.
Choose a number at random.

Choose the correct answer from following options.'
The kidnappers have demanded a ransom of a million rupees.

Choose the correct answer from following options.
| felt very privileged when | was invited to the grand party.
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Choose the correct answer from following options.
He is prejudiced against me because |am a woman.

Choose the correct answer from following options.

The dancers were in position,waiting for the music to start.

Choose the correct answer from following options.
Fast food restaurants popping up every where.

Choose the correct answer from following options.
You must stop the pollution of our beaches.

Choose the correct answer from following options.
Iwas driving at 60 miles per hour.
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